Do you know how to operate this machine?
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To explain how to operate a machine, To report your work
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How to operate machines safely and properly
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Baru, you should cut lumber with this machine.
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Oh, really? Do you know to operate this machine, Minsoo? I've never used it before.
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Okay, let me show you. Press the safety switch around the handle first. And, if you switch on the power button, it
starts working. Like this... okay, now you try it.
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So, press the safety button on the handle and turn on the power button---. Oh, it's working.
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Once it starts operating, you can cut lumber moving the handle up and down.

New Vocabulary

ZXH lumber £Zf0| handle 2X&I0|C} to move
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to pull out to hang to load
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How much have you done so far today?
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| finished cutting corrugated cardboard sheets in the morning, and have been working on folding

and pasting them from this afternoon. | think | can have the boxes that were ordered ready by 6:00
p.m.
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Do we have enough corrugated cardboard sheets? | checked on them after all the work was done
yesterday and we are short.
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Oh, but, corrugated cardboard sheets that we ordered last week will get here this afternoon,
so | think there will be no problem.

New Vocabulary

=MX]| corrugated cardboard =55t enough =T} to remain
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to measure
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to cut out
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to adjust to complete to make to move
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assumption.

-2 Z ZLCtis added when a stem of a
verb or an adjective ends in a vowel
or the final consonant, 2.

-2 A ZCtis added when a stem
of a verb or an adjective ends in all
consonants other than 2.
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Choose the words or expressions from the box that best describe the pictures.
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What should you say if you don’t know how to operate a machine? Following the example, create conversations.
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You should tightly hold a hand tool and accurately place it

on the materials that you're working on.
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You should operate grinding machines at low speed with
your bare hands.
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You should not wear safety gloves when using spinning
equipment.
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Before using lathes, you should make sure all gear and belt
guards are in place by idling machines for a certain amount
of time.
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